SEMESTER 2 FINAL EXAM REVIEW #3

Mame

1 Simnplily vormplelely:

2. Simplily comnpletely:

3. Simplily completely:
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4. There are 15 blue chips and 5. Simplify: o 2y13
12 red chips in abox. If (3x1 x 8 (7x | 9x2 7) 6. Simplify: PN
you choose one chip, what y

is the probability that you
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/. Multiply and simplify: 8. Factar completely:
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Y. Fractar completely:
24y* -4y -8
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10. Find the slope of the line 11. What is the area of the 12. Solve , then graphon a
containing (4,-2) and (7,9). shaded region? number line.
a-(-2) de —(bc+12) >12+2(c —8)
M= =g 13 Dt e —bc - (L > 124+ 2¢—lb
2 -r> 2c—
Ty e 4 A< Ly
X+l o _¥ > 4c
~
L > c
A= (et 30t D) = W () v L -2
—~ e O
Z A S ud — KT e g0 -
| R e
T—Zx }Bx 3 , -4 A o
13. 11. What are the x-intercepts of 15. A student has scores of 12, 9,
Solve and graph £ —6x4+35=0 8, and 11. What score must the
—2 = 2x +:{1- and x +4 < —1 student earn an the fifth test in
¢ &2k a S ,_( 6<\§>G( —¢O | order to have an average score of
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16. Graph and label the lines

a} y=x+2 c) x=4
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17. Write a function for the

situations described:

a) It costs 535 to rent a car and

£0.42 per mile = teailes
C= oSt

COmy =35 4 Y&

b) There are 73 loaves of bread
and the kids eat 7 loaves per day.
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c) A kite starts 4 teet off the

ground and climbs 200 feet per
minute (E{’ et (n 4

18. The height of a rectangle is
three more than twice the base.
The arrais 119 sq in. What is the

height? -
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